)

Wor a 2 year fixed deposit of Rs 50000 with ABC bank, the interest rate is 10.5%.

ﬂ If a depositor opens a reinvestment account at ABC bank, the interest rate offered is 9
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"(%ghlight the objectives of loan pricing? |
> £ moute the loan price using both the average cost of funds and the pooled cost of funds approach for a loan
: m . 3 »
%p:salpoﬂ{s. 30 crore for 2 years, if it sets @ margin of 3%,

> Amount (Rs. Crore) Rate (%)
Mo 20 ' 0.00
6 Months 25 5.00
1 Year 35 7.00
2 Year ' 40 9.00
3 Year 30 12.00

.,ﬂ() Company ABC having AAA rating puts a loan proposal for Rs. 50 crore to be repaid in 5 years. Bank’s

cost of servicing is 3%. It has a plan to maintain a risk margin of 0.70 % for a company having AAA rating.
How much should the bank charge the client to earn a profit margin of 3.5% if for 5 years loan the interest rate

y. Use both average cost of funds and pooled cost of funds approach separately.

/) XYZ Bank has given a loan of Rs. 350 crore. Based on historical data the company expects the probability

of repayments is 75 % and the recovery rate is 65%. The average cost of funds is 12%, the servicing cost is

0.85% and the bank plan to maintain a margin of 3%, find out the contractual rate.
—_— —_———

Ascertain the interest
amount if the payment is made on a quarterly, half yearly and annual basis. What should be the interest rate if

the interest is withdrawn every month and transformed to the savings account?
i} Compute the maturity value of a monthly

instalment of Rs 500 for 3years, if the interest applied is 8% per
and compounded quarterly:

percent for one year

scheme, 10 percent for two years scheme and 11 percent for three years scheme. Find out the maturity amount

for a quarterly re-investment of Rs. 10000 for a period of two years.
i iven teh interest rate of 12 percent per annum on a certificate havin

: g a value of Rs. 100 after one year,
calculate the issue price on the cash certificate.

\&éxplain the different components of investment Mmanagement process of commercial banks.

/’?f.\@@/iven the Sources and Uses of Funds Statemep

t in Table 1, calculate the estimated ch
eposits from month to month, as well as the estimateq

e anges in loans and
liquidity need.

Table-1 Source and uses of ﬁinds statement

' LLZ:IJ :,; month f;g;)fged total [oans($) ggg(r)rgged total deposits($) i
[ February 200000 190000 e |
warch 220000 200000 —
[ April 250000 210000 —

[ May 210000 220000 ]

[ June 190000 210000 —

LJuly 180000 200000 meehid.weebly

com




ulate the bank’s ratio of estimated liquidity sources to liquidity needs.

: i ion in Table-2, calc . et ) ?
Is th?zi:e: ;gsslﬂfﬁ?;fﬁlam: bank will have a liquidity problem at some time in the coming months?
e timate iquidit :

Tgrl:(lj ozf :nsont: fonros o |lqmdiiszltimated total loans($) Estimated total deposits($)

January 4000 6000

February 5000 11000

March 5000 6000

April | 4000 4000

May 3000 6000

June 4000 ’ 11000

Ity 5000 11000

A bank has a capital base of Rs. 150 crore and its total assets are worth Rs. 2200 crore. While Rs. 200 crore

worth assets are risk free, the risk weights for the remaining assets are given below. Compute the total risk
weighted assets (RWAs), the Average Risk Weight (ARW) and the Capital Adequacy "Ratio (CAR) for the
various combinations. Based on the result obtained, identify the combinations of assets which give the
minimum/maximum credit risk exposures to the bank.

No. Assets Risk Weights

1 : 800 50%
1200 30%
2 1000 50%
1000 25%
3 800 75%
1200 30%
f 4 1000 . 75%
1000 50%
5 1200 s 75%
F - ' 800 ‘ 50%

6 800 105%
Y 1200 50%

7 1000 100%
1000 60%

8 1000 100%
1000 75%

9 1200 100%
800 75%

10 1700 100%
300 50%

11 1500 100%
500 75%

12 1800 100%
200 75%

\‘:Q%Brieﬂy'explain the different Basle accords and how all these accords are different from eac-h
other? : .

mech14.weebly.com




